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Pass Marks : 30
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The figures in the margin indicate full marks
for the questions.

Q. No. 1 carries 1 mark each

1 (a) 1x4 = 4

1 (b) 1x2 =42

1 (o) 1ol =0

Q. Nos. 2-6 carry 2 marks E{;Ch 2x5 = 10
Q. Nos. 7-11 carry 3 marks each Bixh =15
Q. Nos, 12-18 carry 5 marks each 5x7 = 35
Q. Nos. 19-22 carry 8 marks each 8x4 = 32
Total =100
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(3) Shareholders

1. (a) Fill in the blanks with appropriate word/words : 1x4=4
' SR*AG TP

T *(wd [l SR S S

(1) The liability of every shareholder of a company is (4)  Management.

1 18 ' AR | -
GO I 2ATe ST G (i AR | | e Y J
(ii) Financial statements of a company include : - 1
(i1) Outstanding Subscription is shown on the side of | a5 i el Ryfowke st swee A ¢
the Balance Sheet. 1 _

gl (1) . Only Cash Flow Statement
2iel St ©ge #itad 2F (T 2 |
@95 Vo S 29E s

(i17) If a partner takes over a liability of the firm, that partner’s . .
: (2) Only Profit and Loss Account

capital account is : 1
W GG AT GO SRAMR] AT 4l WK R, OrRre T @ e~
A e 2R = |
5 < . w 3 (3) Only Balance Sheet
(iv) Current ratio is the relationship between __ assets ' (FET @'@_@ g [C]
and current liabilities. : 1
5T SIS TG G2 Bfere (AR TR AP T (4) All of the above.
BNGIEIR | _ AR ARG |
P ) s O U 1x2=2 ' . ] - (¢) State whether the following statements are “True” or “False” :
e corre <
bl o IFeH wm 7 =R @A 2
A 15 i 42 A0 m o ' ® . (1) The deceased partner is entitled to a share of profit for the
1 nnual Report 1s 1ssued by a company ; . period upto his death. ! | 1
GG e Aif efor e <o ¢ ’ o) 26T Freerda S e Yo ST @iel |

(1) Directors ,_ ) | i 200
(i1) Profit or Loss on revaluation of assets and liabilities is

TIPS ' distributed among old partners in sacrificing ratio. 1

(2)  Auditors TG GR R NN (AT 26q STS A IR AR
f&m SRR ' SIAMINGE N0y S Sgeiice Ronel a1 2|

BENG 3 Contd.
29T ACOU (BENG) (2] 29T ACOU ( ) (3] on



Give two distinctions between a not-for-profit organisation and a trading

organisation. Dy

S 7 (eq SV G2 TS APt TR 76 AT @Rl

A and B are two partners sharing profits and losses in the ratio of 3 : 2.

3 : 2
C is admitted as a new partner for Eth share which he acquires 0 th

1
from A and -ﬁth from B. Calculate new profit sharing ratio. 2

A R B o S @] Ol 31 2 SeACS SIS~ 0 SCEfRe | Ol

3 2
C-& ool SINTME BAE 1d | C =iiced 1o SR ARRIET AR R =

1
SR GRK B (R 7o R T | T TS TG TS R e |
OR/ @33

Give two conditions under which a partnership firm is dissolved.

SAWIR G CSTF AT 715 SHE I |

Mention any two features of a debenture. ] AR

AT (3 () G5 @FE S TR |

What is the meaning of Cash Flow from Investing Activities ? 2

“Rifcie FEET (A 2 Tem eed eeT-ag 9 @Al

What is meant by “super profit” in relation to valuation of goodwill ?

2
TN e e Sfonre i e
Mention three objectives of preparing financial statements. 3

Sl oferave ergeaared Oafo S S TR

29T ACOU (BENG) [4]

8.  Calculate liquid ratio from the following information : 3

e O (AT oFe THre el SEi s

Stock (VG Za) =

2 50,000/-
Debtors ((W=%i<) = 80,000/
Bills Receivable (2lisi f<=1) = ¥ 10,000/-
Advance Tax (I @ <) o 000/
Cash (75m) , = I 30,000/-
Creditors (A1€aMI) = T 60,000/-
Bills Payable (01 &) = ¥ 40,000/-
Machinery (@=iifs) . = % 150,000/~
Bank Overdraft (1% SORGREL) = I 4,000/-
Dl iihiess (ieiofa) = T 70,000/-

OR / @21

What is Comparative Statement? Mention fwo objectives of preparing
Comparative Statement. Il=as

WG Y6 W Fe g RS ageaes 7o Sra S S |

What are contingent liabilities ? Mention any two items. 1225

IR (Al S e (T e 7o NN SrEd T |

OR / G4t

Explain the average profit method of valuation of goodwill. 3

I EDIRER NG T oimts W00 |

29T ACOU (BENG) [5] ' Contd.



10.

i

Calculate amount of medicines consumed to be shown in the Income and

Expenditure A/c for the year ended 31-12-2018 : - 3.

31-12-2018 SIfStd TR SR- R I (reice 2 (iR S T2 wAfsTel
e e -

01-01-2018 31-12-2018
(Rs.) (Rs.)
Stock of Medicines (S[g® 834) 3,000 500
Creditors for Medicines (\‘3‘{{6&1?1' ST 2,000 1,300

Amount paid for medicines during 2018 was Rs. 10,800/-.

20187 &FeE T 10,800 TPl #ifHeite <51t 2GaEa |

OR / /241

Mention any three distinctions between Receipts and Payments A/c and

Income and Expenditure A/c. ' 3

G-REs B @92 SRR BEE W (@ (P o Ay S Il |

Mention any three limitations of Financial Statements. 3

e afermea @ @ ol ANt T Sl |
OR/ &341
Write three objectives of preparing Realisation Account. &

& A 2 dB0ea foafb Sy eIl |

29T ACOU (BENG) [6]

12. North East Club had a Cash balance of 220,000/- and Bank balance of

% 35,000/ - respectively on 01/04/2017. From the following details prepare
a Receipts and Payments Account for the year ended 31/3/2018. 5

01/04/2017-49 519 22 FIF Fo7 914 20,000 Bivl G=R HICE 35,000 i) &) o |
Tod 2 (A 31/03/2018 INCII Tl 26 21 o ol |

Subscription Received (2@ bMl) 2

(Rs.) (Rs.)
2016-17 30,000
2017-18 2,25,000
2018-19 10,000  2,65,000
Donation for Building (¢ &= i) s 60,000
Entrance Fee (&=l iwe) 23,000
Life Membership Fee (SISRA 9] Jwe) 20,000
Printing and Stationery (2%l <% A=) 38,750
Lighting Expenses (Rujced &) 26,250
Rent and Taxes Paid (Sfel @k = i) 17,000
Telephone Charges ((GeT=IG= 2<b) | 2,600
Postage (©fF) 2,000
Salaries (@) | 88,000
Insurance (131) 15,000
Interest Received (2I® n) 18,000
Locker Rent Received (FiIEd ©lGl @ifa) 42,000
Purchase of Furniture (SIi¥diE &) 2,60,000
Cash in hand as on 31-03-2018 23,400

(31-03-2018-9 <9iw &=t )

29T ACOU (BENG) [7] Contd.



OR/ &34

Explain in brief the treatment of the following items in preparation of
Income and Expenditure Account : 5

SE<TE i e 1 T NiRe smeler 2R T-ieR a7 SR R0l
T 8

(i) Subscription (o)

(ii) Life Membership Fee (SN o} SfeseT)
(iti) General Dona}tion (CIEIERRAn))

(iv) Specific Donation (RTE 7i)

(v) Legacy (Fiesif)

13. What is Cash Flow Statement ? Explain its three limitations. PEO=5
5 SR 2[E forE@ma W F 2 2 efSrMER o5 STREe Wi FE! |
OR / &2
From the following- information calculate the cash from operating
activities : : 5
TR TR (A T 9 e AR Foae sl el ey e
2016 (Rs.) (2017 (Rs.)
Profit and Loss A/c (Fre-GER™E 231) 3,00,000 2,50,000
Bills Receivable (&= f3#1) - 20,000 18,000
Provision for Depreciation (S =) Hfew) 60,000 | 80,000
Outstanding Wages (078 IgR) , 18,000 15,000
Prepaid Insurance (Trfes ena i) 6,000 9,000
Goodwill (F=11%) 40,000 32,000
Provision for Doubtful Debts . 10,000 14,000
(CHESHS A T SR T2
Debtors ((q=1vld) 1,20,000 80,000
Cash and Bank Balance (5% @38 & @aﬁ) 30,000 |° 25,000
29T ACOU (BENG) (8]

14.

A business has a current ratio of 3:1 and a quick ratio of 1-2:1. If the

working capital is 2 1,80,000, calculate current assets and stock. 5

G IRAIER BfeTe S 3:1 GRSy SRS 12:1 | I S e
1,80,000 BI<e! =, SR beve e GaR Were St S e e |

OR / &241

What are profitability ratios ? What is the significance of gross profit and
operating profit ratio ? SiE2=5

FAoomeor ST Ft Fl 2 FKED e IR TS A0S TAITST SFg
3 2

15. A, B and C were partners sharing profits in the ratio of 3:2:1 respectively.
Balance Sheet of the firm as at 31st March, 2017 stood as follows : 5
A, B @ C foTee SIMvia JA@ 3:2:1 SHATS S 07 et | 31 b,
2017-4 St SRR Tge @b Frne @ed e -
Balance Sheet (T%e @)

Liabilities (Cwh) ®) Assets (37if8) @)
Sundry Creditors 16,000 Building (D) 23,000
g heamia

i Debtors (@E W) 7,000
Capital :
(3[e7&) ¢ Stock (TG® <)) 12,000
A 20,000/- )
B+ 17,500/ Patent (C2[0575 ) 8,000
S5 2500/ SN 40,0001 gank (=) 6,000
56,000 56,000

29T ACOU (BENG) [91] Contd.



"B" retired on the above date on the following terms :

S &ve #1% SPIE THrEe oifftd B SIRoH 220 6 -

1)  Building to be appreciated by 2 8,800.

ICA & 8,800 B Jia A |

1))  Provision for doubtful debts be made @ 5% on debtors.

FAMIEE ©AE 5% 2@ AVRee A9 M SRYL I8 4F Fa0e 23 |

ii1). Goodwill of the firm be valued at 2 9,000.

AfSPICTR FF1 9,000 DR e F1 27 |

Pass necessary Journal Entries.

AAC I Sl 2fRfE whe |

OR / S72/€f

What is share forfeiture ? State the procedure of forfeiture of shares:

ZitB=5

SR*(2[0ad ACTANEFE M F 2 WXIo{tan ATAEFIER el Smd i |

16. What is Partnership Deed ? Mention its four principal clauses.

AW TeTE e 1 2 SRAMIAT ufeice 51F0 2 wel BrEd A |

29T ACOU (BENG)

[10]

1+4=5

OR / 9241

Following is the Balance Sheet of P, Q and R as on March 31, 2018 :

P, Q 9% R-4F 31 b, 2018-95 €58 2@l FI> (1S3l Zreil— - 3
Balance Sheet (%3S @)

Liabilities (%) () Assets (7€) ®
Sundry Creditors 16,000| Bills Receivable (&= {3&1) 16,000
ISR UE Furniture (SIPRR) 22,600
General Reserve 16,000
AdRe 7ffer Stock (&S i) - 20,400

@ Capital Accounts : Sundry Debtors . )
t o EE (Rt w=mi=) 22,000
RS-0 ()0 00
7 nk Sl 18,000
O+ 20000 Cash at Bank (Jjit& )
R : 20,000 70,000| Cash in Hand (F5% &) 3,000
1,02,000 : 1,02,000

Q died on June 30, 2018. Under the agreement the executors of the

deceased partner were entitled to :

30 T, 2018-9 Q- gy = | pers Jo S¥vicR AfeRiEal 2 -

a)  Amount standing to the credit of Partner's Capital A/c.

@ SRAICH T A GO0 Al eltey oY

b)  Interest on Capital @ 5% p.a.
AR 5% 2 TR SR FH |

¢)  Share of goodwill on the basis of twice the average of the past three
years' profit.

fore o ==m 918 =iites e fefers Fric =i |
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d)  Share of profit from the closing of the last financial year to thg date Balance Sheet (T9€ #i@)

of death on the basis of last year's profit (2017'18)' 1 Liabilities (7<) () Assets () ®)

Riofs T (2017-18) A fofs oA 4ea il Refe s Y oifsd - Creditors (AISAMH) . 11,200 Sundry Afssets TH
) /' o y ﬁﬁﬁ g

(A ol i TG FACST oA | - | Bills Payable (2itwa &) 1,800

Fund (37%© 9 6,000
e)  Profits for the last three years were: Reserve Fund (if%© %)

' Capitals :
Rofe fo T2Ee oo 2o : Rl i
p ; A : 20,000
© Year /¥ Rotias B : 20,000 40,000
5 (2) - AT e
2015 - 16 12,000/ - ® 59,000 | 59,000
2016 - 17 16,000/ -
2017 — 18 14,000/ - The firm is dissolved on the above date. Assets are realised at ¥ 49,600.
) e Creditors allowed a discount of 2% and Dissolution Expenses came to Z 544.
Prepare Q's capital account on the date of his . ,
p - CEe oificd efewioa S W0 | Riva Aifesfs e @ 49,600 B
Q-@ma@ﬁmwwmﬁmammm oGl IR | AW 2% QT OF IR SRAR I L[069 ARG 544 5iAf 2 |
Give Journal Entries to close the books of the firm.
17. Distinguish between Realisation Account and Revaluation Account. 5 ' | efodia faolia el 7% TR S S @R We |
¢ Al
ST o R e A T A sfjeRy @ (T
] N . 18. Discuss the process for allottment of shares of a company in case of
OR / &1 ([ ® oversubscription. 5
A and B are partners sharing profits equally. Balance Sheet on September SfEF TP (FCG (@R SR*7E o @it SiEna S|
2018 was as follows : 2 OR/ 51331
A @F¢ B 7 SEAICS &S 09 4l weAia f2e | EleeeEa 2018-C9 ©OitTE Tz Prepare a Comparative Income Statement from the following particulars :
g A : :

“afs fFeare w@em 260 ' 1
s FeHe B (AP G/ DREERs S Ao aee 6@

29T ACOU (BENG) [12] | 29T ACOU (BENG) [13] Contd.



Particulars (Fgae) 2017 () 2018 (%)
Sales 4,00,000 5,00,000
Cost of Goods Sold 2,00,000 3,00,000
Administrative Expenses 40,000 1,00,000
2T A
Other Income 20,000 30,000
BRG]
Income Tax 60,000 70,000

19. Following is the Trial Balance of Rana and Raju as on 31st March, 2018 :

5 o 8
31 E, 2018-CS Rana 3 Rajus 7€ e #afs FCNe EEa e .
Dr. Trial Balance (3%% fitets #[@) G
Particulars (f333) ® Particulars (Raaet) )
Machinery (F&if®) 10,000 | Capital :
Furniture (STFRR) 20 B60N[E T o
Rent (7 ©9)) 19,740 g%na B it
Salaries (o) 9,000 ]
z Ra — 40,000 |1,05,000
Debtors ((FITH) 40,500 =l G g
Cash in Hand (59 &) 16,300 | (reditors (ANSAMR) 18,400
@
Dash ‘at Ba(nk (?I]];C‘d‘? G"NT) 45,000 phission () 300
rawings (S24¢) & :

Rana (M) = 4,000 Bank Loan (7% <) o

Raju (Ag) = 3,000 7000 | Trading Account
Closing Stock (% g®) | 12,500 (@R 1) «
Commission’ (T&f) 5,000 | Gross Profit (G ®) 57,200

1,85,900 1,85,900

29T ACOU (BENG)

[14]

Prepare the Profit & Loss Account and Profit & Loss Appropriation
Account for the year ended 31st March, 2018 and a Baldnce Sheet of the
Firm as on that date after taking into consideration the following

additional information :

Tiopd Sfofie wAai Rsl @ 9 Wb, W st @ﬁeﬁmm@—mﬁﬂm |
SIS GET TolAen AR @k T it S U g eiws w0 -

1) . Depreciate Machinery @ 10% p.a. and Furniture @ 20% p.a

TN @oita GRS 10% R SFRIEE S AT 20% Sy 4
sgell

ii)  Partners will get interest on Capital @ 5% p.a.

SRR RS 5% FE FEACER S 7 7N |

i;’i) Raju is entitled to a salary of % 1,800 p.a.

g TS 1,800 BiA AR @on 2 |

iv) The Profit sharing ratio between Rana and Raju was 3:2.

A 8 AGF A o7 6 Sie 3:2 e |

29T ACOU (BENG) . [15] : Contd



50. M. S. Limited issued 1,000 equity shares of Rs. 100 each payable as

follows :* - 8
On Appplication —  Rs. 25 per share
On Allotment —  Rs. 25 per share
On First Call L B RSI20ipershare
@nEE il S R5 8 () perishare

All the shares were duly subscribed for, called-up and paid-up, except
Mr. A holding 400 shares did not pay the final call money.

Show the entries in the Cash Book and Journal of the company for the
above transactions.

M.S. Ltd &6l 100/- FEma 1,000 ois@ Rfer o @R @b fieae «awd
sifaeia e ==

ST A — 25/- B

SO A — 25/- Bl

A2l weiEd A — 20/- O

POIT WeTdd G — 30/~ Bil

SeesiaelE T TS SiEE sledl (| e o e R
qqe A-F FOIE SHEH 400 b wiesisras o 2! 4ifF o ol #Aled (ofe |

sl FE0O el 43 e Al R drEea S ek wie |
"OR/ 9241

Write short notes on : 3+3+2=8

Fre Brel coTedll
7)  Redemption of Debentures

Hetolrag AT

b) Loss on Issue of Debentures

HYoioiaa Jierard el

29T ACOU (BENG) [16]

c) Minimum Subscription.

TS S |
2IMSHICTEC el 1,(_)00, 12% Debentures of ﬁs. 100 each. Give journal

entries for Redemption of the debentures in the books of the com
under the following conditions : 2+3522§
S. K. Ltd. -100/- Gel ¢ 1,00006 12% <eisiq &1 sieet | Momie s2yefm
T (P I200 A9t AR @ TS Sicm a4k e -
1)  Issued at Par and Redeemable at par after 5 years. |

TR [ETSe @38 5 A5 S AT AR |
i)  Issued at Par and Redeemable at a premium of 5% after 5 years.
- TET R @R 5 TR SR 5% it s
1it)  Issued at a Premium of 5% Redeemable at par after 5 years.
5% SifeR R R 5 F=E SR e SiHe |

OR/ 5241

Write short notes on : | 2+2+2+2=8
e Bl el -
i) Authorised Share Capital

TGFS ORN eTe
i1)  Call-in-Arrear

A1 e
iii) Pro-Rata Allotment

FAANGT S¥Io1q S5
iv) Pfeference Share.

elfETE Sienorg |

29T ACOU (BENG) [17] Contd.



Vimal and Nirmal are partners in a firm sharing profits and losses in the
ratio 3:2. Their Balance Sheet as on 31st December, 2018 was as under :

X _ 8
e =g [ 3:2 SAICS AS G GRS 50 TR 2O SIAE 2 |
31 friEa, 2018-9 St g€ “dl WHe HEe e : |

Balance Sheet (3%€ (@)

Assets (F7If©) (?)

Liabilities (=) ®)

Sundry Creditors 20,000| Cash (5% &) 14,000
[fEy “lieqmia
Capital Accounts : Debtors ((emis) 18,000
S fﬁ\?—fﬁ :
Vimal (ﬁm) : Rs. 60,000 Machinery (?I‘éfofﬁ%) 50,000
Nirmal (&) : Rs. 32,000 | 92,000

Stock (3%
Profit and Loss A/c 20,000 gl R
Fre-ETe 299

Goodwill (3i31) 10,000

1,32,000 1,32,000

On that date Kailash was admitted as a new partner. He paid 2 40,000 as

his capital and 2 20,000 for his share of goodwill. The new profit sharing
ratio was agreed to be 2:1:1.

Pass Journal entries in the books of the firm and show the Balance Sheet

of the new firm.

Trirae wifEcd @ (Kailash) e wos S 29 i@ #m o e
SETH AT 40,000 BN G- FAICTE O SREAE Sy 20,000 DIl S | 11 0
SEPATS 2:1:1 2@ A0 PaS (ed 7 | AfSPitTs 2 sicwl AfRiE me @R TR

29T ACOU (BENG) [18]

OR/ 331
What is goodwill ? Mention four factors affecting the goodwill of a firm
Mention three conditions when valuation of goodwill becomes necessary'
| : - 1+4+3=8
SIS A F 2 2RI FNT RATIS SR @t 51575 e Seel <ol | @
fofo ARMRT Seard TR I3 N FETEA AT 20 =i |

29T ACOU (BENG) [19]



